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(Equivalent Rectangular Stress Block)
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(Equivalent Rectangular Stress Block)
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(Equivalent Rectangular Stress Block)
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(Equivalent Rectangular Stress Block)
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Questions

1 Why there are different types of RC members?

2 What are the functions of reinforcement detailing?
3 How to simplify the calculation of flexure strength?

4 How to determine the maximum and minimum
reinforcement ratio for RC beams?

5 How to design the RC beam when the maximum
or minimum reinforcement ratio are not satisfied?

6 How to design T-section RC beam?
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(Doubly Reinforced Section)
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Key Notes

1 Basic assumption

2 Reinforcement index & —failure mode

3 Maximum and minimum reinforcement ratio

4 Calculation and design of singly and doubly
reinforced rectangular section

5 Calculation and design of (doubly) T-section
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Questions

1 Why there are different types of RC members?

2 What are the functions of reinforcement detailing?
3 How to simplify the calculation of flexure strength?

4 How to determine the maximum and minimum
reinforcement ratio for RC beams?

5 How to design the RC beam when the maximum
or minimum reinforcement ratio are not satisfied?

6 How to design doubly and T-section RC beam?



	第5章 受弯构件正截面承载力计算 
	5.1 概述
	5.2 正截面受弯承载力计算的基本规定
	5.3 受弯构件正截面承载力计算
	单筋矩形截面
	双筋矩形截面
	T 形截面



